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Chemistry (P.G.)
[CBCS]

M.Sc. Third Semester End Examination-2024
(Regular & Supplementary Paper)
PAPER-CEM-302
[Inorganic Special]

Full Marks: 40 Time: 02 Hrs.

The figures in the right hand margin indicate marks
Candidates are required to give their answers in their own words as
Jfar as practicable
lllustrate the answers wherever necessary

Group A
Answer any four questions of the following: 4x2=8
(1) Differentiate between heterogeneous and homogeneous

catalysts.
(i)  What is meant by Turnover number (TON) and turnover
frequency (TOF).

(i  Explain water gas shift reaction and mention its application.

(iv)  Identify ‘A’ & ‘B’. co
SCHzCHaR
Ph’P"”‘RL"‘ > A
oc”  “eph,
H
, R
Phaphh'Rh——-” —— R
Pth’/




(b+) uredx;
— -uonisued) ] «-ly ueyl ISUDUI DIOW SaWn (| ponose
§1 1 [+%V Wloj uonisuel) J1uoo9]d ay) uol .L:Uou_ up (1)

ek

410U JO pamoj[e st uonisuwy} p-p aind ,.NT_OoU_ 10 (1) ¢

(E+£+7) JAum
puR uondES! UOUBIUANWLID Spupiy — g odispun ueo xajdwod

umuneid s[qels jsow pouonuawr da0qe oYl Jo yoym (1)

HJ

A

Id

T dtug o) df3 dtud
\/\/ \u ud y. /r._\ no:.w\/i\
id

o

/\//4,, . gy & ey ¥ I3 = gy
A

P > HD q g

"UONOBAI ST} JO SONSLINIVIBYD
wepodwr 3yl MUA\ CUCHOBAl  UOHBUIWII[R  IpLIPAY
-¢] 91 Ul PIA[OAUT WISIUBYDIW [RIAUST 2Y) umop i (1)

‘ure[dxa — soufdjje [eUIULIS}

uey) A[pider siow pajeusfoipAy ore ssudye feuruud] (1) p

(1+p+£) ¢souy[e
Jo uoneus30IpAy 2y} Joj pasn dIe sisA[e1Bd yorypa (1)
(€)

A pue (L) Auopy

BN+ ) e 5 ——————  YOD) % 4] (@)

IEHD 8H / eN
(02)
N
4, < o
m_._n_n_O\/ln_m_._n_ ﬂgOMHNONI
(e) (1)
"sax9[dwod [ZoW SUSIE S1q JO SUOTIdRIIIUL L Y} SSnos(T (1) '€

(p+v) ‘saxa[dwoo jAuoqied
[e10w suaIpriuado(oAo o sisaiuAs Juepodwn om) Ay (11)

* BUIOO0LIY JO wreIRIp QN 24l Sssnasi(T (1) T
7€ =8X¥ :Buimorjoy ayy jo suonsanb anoj {ue samsuy
q dnoan

(P:n)uonejussaidoy
14 [4 [% 14! a[qonpay
zZKo ZX0 D q AZD

"uoneUasaIdal aqronpaL oyl ncwﬁ:omﬁmﬂ Y1 20npayY(1a)
o1dourid uorsnoxa st yeyp (A)

(2)




(4)
6. (i) Construct the 7-MO diagram of NO,™ ion on the basis of

group theory.
(ii) Cyclobutadiene is unstable but (CsHs)Fe(CO)s is stable-
why? (4+4)

7. (i) For water molecule, verify whether the electronic
transition from GS to ES is possible or not?
(i) Discuss the mechanism of Monsanto process. Which
technique can be used to confirm the product formation and
how? (5+3)

Point Group of water:

C2v E Ca2z OXZ oyz
Al 1 1 : 1 1
A2 1 1 -1 -1
Bl 1 -1 1 -1
B2 1 -1 -1 1
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